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Ch- Subtraction
BASED ON N.CERT

Q. Arrange in columns and subtract :-
a. 54454 — 42352 =. 54 45 4
—42 352
12 102

b. 979879 — 806352 =
C. 929321 — 617210 =

d. 7755782 — 6644551 =
e. 46732 —23845=

f. 100000 — 31146 =

g. 26000 — 14000 =

h. 50000 — 9000 =



Q. Find the difference ;

47835 2) 73826 3) 95276

1)

1508 3461

2451

5) 83691 6§ 69366
- 41045 -16725

71685

4)

4 233

8) 50648 9 B9 156
- 37142 -58429

67489

7)

3654

11) 70529 12) 96724
- 45283 -68153

57823

10)

36179

57599 14) 58835 15 67189
-27507 -52698

-28375

13)

43895 17) 81653 18 79035
- 25317 -46271

-16624

16)

**xx%% (Bikash kumar)



